
SSC CGL (REASONING) PREVIOUS YEAR QUESTION & 
ANSWER WITH SOLUTION 

ONLY LETTER SERIES 

GEORGE  SCHOOL OF COMETITIVE EXAMS 
Question 1: Select the letter-cluster that can replace the question mark (?) in the following 
series. DAG, FCI, ? , JGM, LIO [SSC CGL 4th March 2020 Shift-3]

A    GDJ

B    IFL

C    HKE

D    HEK 

Question 2: Four letter-clusters have been given, out of which three are alike in some 
manner an done is different. Select the odd letter-cluster. [SSC CGL 4th March 2020 Shift-3]

A    FGL

B    ABF

C    IJN

D    MNR

Question 3: Select the letter that can replace the question mark (?) in the following series.

 A, E, J, ?, W [SSC CGL 4th March 2020 Shift-3]

A    R

B    P

C    S

D    Q 

Question 4: Select the letter-cluster that can replace the question mark (?) in the following 
series. DAC, GWH,JSM, MOR, ? [SSC CGL 4th March 2020 Shift-1]

A    QKV

B    PKW

C    QJW

D    PJV 

Question 5: Select the set of letters that when sequentially placed in the blanks of the given 
letter series will complete the series. _swws_wwws_swwww_sss [SSC CGL 4th March 2020 
Shift-1]

A    w, s, w, s



B    w, s, s, s

C    w, w, s, s

D    w, s, s, w 

Question 6: Four letter-clusters have been given, out of which three are alike in some 
manner, while one is different. Select the odd letter-cluster. [SSC CGL 4th March 2020 
Shift-1] 

A    YXW

B    FGH

C    NML

D    TSR

Question 7: Which letter will replace the question mark (?) in the following series?

 A, B, E, J, Q, ? [SSC CGL 10 June 2019 Shift-2]

A    A

B    Y

C    X

D    Z

Question 8: Three of the following four letter-clusters are alike in a certain way and one is 
different. Pick the odd one out. [SSC CGL 10 June 2019 Shift-2]

A    FHJ

B    SUW

C    KMO

D    PQR 

Question 9: Find the next term in this series. 

CBA, FGE, ILI, LQM, ? [SSC CGL 10 June 2019 Shift-3]

A    OVP

B    NVQ

C    OUP

D    OVQ

Question 10: Three of the following four letter-clusters are alike in a certain way and one is 
different. Pick the odd one out. [SSC CGL 10 June 2019 Shift-3]

A    KMT

B    FHO

C    QSZ



D    OQV

Question 11: Three of the following four letter-clusters are alike in a certain way and one is 
different. Pick the odd one out.[SSC CGL 11 June 2019 Shift-1]

A    FGE

B    YZX

C    NOR

D    KLJ

Question 12: Select the terms that will replace the ? in the following series.

 Z, X, V, ?, R, P, ? [SSC CGL 11 June 2019 Shift-1]

A    S, N

B    T, O

C    T, N

D    S, O

Question 13: Select the term that will come next in the following series. 

OBE, PDH, QFK, RHN, ? [SSC CGL 11 June 2019 Shift-1]

A    RJQ

B    SJP

C    SJQ

D    SKQ

Question 14: Select the terms that will replace ? in the following series

 K, M, O, ?, S, U, ?, Y [SSC CGL 11 June 2019 Shift-2]

A    Q, X

B    Q, W

C    P, W

D    R, W

Question 15: Three of the following four letter-clusters are alike in a certain way and one is 
different. Pick the odd one out. [SSC CGL 11 June 2019 Shift-2]

A    DWKO

B    HSYB

C    QJUF

D    GTXC

Question 16: Select the letter cluster that will come next in the following series.



 GZI, HYJ, IXK, JWL, ? [SSC CGL 11 June 2019 Shift-2]

A    KVM

B    KUM

C    JVN

D    LVM

Question 17: Three of the following four letter-clusters are alike in a certain way and one is 
different. Pick the odd one out. [SSC CGL 11 June 2019 Shift-3]

A    PUYBD

B    EJNQS

C    TYBEG

D    JOSVX

Question 18: Select the letter cluster that will come next in the following series. 

ADH, XAE, UXB, RUY, ? [SSC CGL 11 June 2019 Shift-3]

A    PRV

B    ORU

C    OSV

D    ORV

Question 19: Select the term that will replace the question mark (?) in the following series. 

A, G, L, ?, S, U, V [SSC CGL 11 June 2019 Shift-3]

A    O

B    P

C    Q

D    N

Question 20: Which letter will replace the question mark (?) in the following series? 

X, R, ?, I, F, D, C [SSC CGL 12 June 2019 Shift-1]

A    Q

B    N

C    M

D    O

Question 21: Three of the following four letter-clusters are alike in a certain way and one is 
different. Pick the odd one out. [SSC CGL 12 June 2019 Shift-1]

A    JKNRV



B    PQTXC

C    GHKOT

D    UVYCH

Question 22: Which letter-cluster will replace the question mark (?) in the following series?

 FKP, HNT, JQX, LTB, ? [SSC CGL 12 June 2019 Shift-1]

A    NWF

B    NXF

C    NWG

D    MWF

Question 23: Which letter-cluster will replace the question mark (?) in the following series? 

PRT, TVX, ?, BDF, FHJ [SSC CGL 12 June 2019 Shift-2]

A    XAB 

B    XZB

C    XZC

D    YZB

Question 24: Three of the following four letter-clusters are alike in a certain way and one is 
different. Pick the odd one out. [SSC CGL 12 June 2019 Shift-2]

A    SUXBG

B    OQTXC

C    BDGKP

D    JLKRW

Question 25: Which letter will replace the number (2) in the following series?

P, U, R, W, T, 2, V, A,X [SSC CGL 12 June 2019 Shift-2]

A    X

B    W

C    Z

D    Y


